| W,
e a.
37.5'MAX. OVERALL | Jpec %.g "
FRAME WIDTH S £ ") Q%
e £*= a z v
f;-*:i;_ ‘.-“ @ g ] o T
‘ 2o Lt % n Gu
ﬁ*iﬁz c '(2- & g g *=
s ?
PR ODUCTS, I NC. 1 A0 :,% Zis 28
AR Ksa @4
/ G - 33e
8811 West Market Street | /, iy 29w gé
Colfax, N.C. 27235 ) A L
’ 14 £d0 gy Ok
/ i 243 g
. g ol g 35
I ) 2 § o
Glazed Fiberglass Door g 3 -
= = [}
| : 2 | S
=0
"NON-IMPACT" Z 3 °
T = tn
INSWING / OUTSWING S & = &
o o Lo
w T n=
= g % -
z 2 s
< < o o B b
o 4 e SR E N
% % s lad
= 3 2 8
S i . N
[ ol o x| =in
PN - g e % o
N = ol F&
EVALUATED FOR USE IN THE STATE OF TEXAS / & | =
the Glazed Fiberglass Door system described herein complies with the 20046 ;
international Residential Code (IRC), Sections R301 & R413 and the 2006 // %
Infemationad Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404 /,
{including Texas revisions) subject to the following conditions: /
}

1. Anchors shall be as fisted and spaced as shown in the details, Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is A
required fo be protected with an impact resistant covering that complies =
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC, %

3. Allowable design pressure requirements must be equal to or less than the E
design pressure rating shown in the dssign pressure chart, sheet 1 of this o
drawing.

4, Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS E
SHEET# DESCRIPTION o
i Typical elevations, design pressures & general nofes o
2 Lock detdils [Hoppe HLS $000) =
3 Door panel details (Fiber Classic - flush glazing) oaTE: 1/08/14
4 Door panel details {Smooth Star - flush glazing) FIBER CLASSIC +30.0 -30.0 +50.0 -50.0 SCALE:  N.T.S.
5 Horizontal cross sections . X ’ DWG. BY: JK
b Verfical cross sections CHK. BY: LFS
+ - + -
7 frame anchoring SMOOTH STAR 30.0 30.0 35.0 35.0 DRAWING NO.:
TX—4428
SHEET _ T ofF _7

RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, TX-4428

© 20114 R.W. BUILDING DONSULTANTS INC.



TONE SLNYLTASNOD aNIQTNg MY 2108 @

ZOELi—d4 § NOLVMISIONM JO IUVOLLNID SNOISIATY
SYIINIONI TVNOISSIJOMd 40 QMvOoE SvXAL Bomo,ms_,m%% vw%%%lv Ag 3IV0 [ON ey " 7_
ooty o Slu|xll]| D
£616'859°CLE T'ON euoyd ; - N
GBSET "4 OOWIDA OFZ Xog .O.&\N\ﬁ@u TA1BNESSY MO Lavd W W -~ . M,. S
*ONI ‘SINVIINSNGD ONICING ~ R 2_
VHNaN3 o lgle
CZLYOLF Td SwaL - Gl 3 el ei® k
F'd WPIUUSS 4 Uopudl :Ag peupdesd suUBWINDCQ 1INA0Hd HEIHEE 5
e :WN.&W | e _.W.Nﬂ
JA9E
(-]
=
| e cec ) m i
1 7 w
5

#8X 3' PFH WS §
#8 X 3" PFH WS x
N

[ ._Nm.w il

O
©
LATCH & DEADBOLT STRIKE PLATE

e
oI5
ke =
QS S
— in a
Z|<2 - v
0|8 o
S =2 | z
S < — —
= m rmv I mu\ =
7 AN 00— Q
7 w!D Z9€ T
7 . [
W m Wind 5
T =
"
o~
—
z
@]
&
[ =
s |
m o w
W =
&9 >
£Q “
(074
<
[
O
=
Q
a = = I === WY _n|D
[ = — nllw.(. r_—.[._ = 4 w
w‘l %
[ 7]
IHOBEH I1aNVH - T
-
O
et IHOEH TIV¥IA0 - =
O
—I
)
<
-
z
<
=

87 'BMPRZ-LZir-XU\sBUIMRIQ DEMY "ANSLOT 3d\00LT - TOIT [oid\s1apiog 1afosg\sizalolg - Wiy



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, 3.8

EXTERIOR

7

INTERIOR

- 402"
5 U 1 [
R i
¥ 1
e—— T +
LATCH STILE X
(LVL)

/"1 "\ HORIZONTAL CROSS SECTION

\3/

HINGE STILE
[WOOD}
35.81" MAX. .
PANEL WIDTH o
23.75" MAX - _
D.L.O. WIDTH E
3
,/
///
[#74
8% 55
<6
2o 20 X R
Tt 7 \3/
2g 59
8 "o
8
’/
VA
b

THERMA TRU - Fiber Classic Panel
Flush glazed
{fiberglass)

EXTERIOR

INTERIOR

92/16" GLASS
BITE
1H16" THK. GLASS

1/8" TEMPERED
" Glass
————— ARSPACE
T 1/8" TEMPERED

GLASS
ALUMINUM SPACER

Q'S0 SEALANT

/4

@ GLAZING DETAIL

TOP RAIL

{COMP.)

FIBERGLASS SKIN

{075" MIN.} \

e 1,75" —=]

EXTERIOR

2l

FOAM CORE
(POLYURETHANE - ™

1.9 PCF MIN.)

BOTTIOM RAIL
[COMP.)

0.93"

INTERIOR

0.94"

/"2 "\ VERTICAL CROSS SECTION

\3/

ui
e g
o ¥ 0
2o . 14
Ex o 4
S .8z
i [ 1]
ei Zn B
.5 @
c ;g
[+] [+ it
© ia 3
£ T X
3 Hsw i
2 >
%o"
5, O”? £
& on . F
o xz
° [T
] Z8, ©
g 345 9
® 5‘3..:%
& Do
o S o
Erd
[-4
[ ] e:
E g
-
8

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:
DOOR PANEL DETAILS

PRODUCT:

BY | (FIBER CLASSIC - FLUSH GLAZED)

NOJ] DATE

REVISIONS

paTE: 1/08/14

scaE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4428

SHEET 3 oF 7

© 2014 RW, BUILDING CONSULTANTS ING.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, 4.8

3.94

- ] 48" —]

\- LATCH STILE

(WOOD/LVL)

35.81" MAX.
PANEL WIDTH

23.75" MAX

D.L.O. WIDTH

95.09" MAX. DOCR
PANEL HEIGHT
78.75" MAX
D.LO. HEIGHT
4

EXTERIOR

A

INTERIOR

71"\ HORIZONTAL CROSS SECTION

\4/

/;//”

A
4/

THERMA TRU - Smooth Star Panel

Flush glazed
[fberglass)

EXTERIOR

INTERIOR

2/16" GLASS
BITE

Al

S —

\ e

11/16" THK. GLASS

1/8" TEMPERED
GLASS

AIR SPACE

ALUMINUM SPACER

QSO SEALANT

(:) GLAZING DETAIL

TOP RAIL

—_

|oa— 1 48" —=d

[COMP.)

FIBERGLASS SKIN

(075" MIN.) 5
\ 5
¥
7
EXTERIOR INTERIOR
Al
2
FOAM CORE
{POLYURETHArEx_
1.9 PCF MIN.)
BOTTOM RAIL <
[COMP,) ™™™

/" 2"\ VERTICAL CROSS SECTION

4/

Lyndon F. Schmidt. P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 353595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC,
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

(Vs

=

&

< a]

= st o
—

S |3z

| 2o
73]

i

48

[ rl &

(&)

8 o
S 2
o o

BY | (SMOOTH STAR — FLUSH GLAZED)

NOi DATE

REVISIONS

oaTE: 1 /08/14

scalE:  N.T.S.

DWG. BY: JK

CHK, BY: LFS

DRAWING NO.:
TX—4428

SHEET 4 oF 7

© 2014 B.wW, BUILDING DONSULTANTS ING.



RM\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, 5.8

i MULTI-POINT LOCKSET:

’\ﬂ / HOPPE HLS 2000 TONGUE/SHOOTBOLT

|
” ‘ CORNER PADS (TYP.)
174" MAX. e
0.15" / 0.15" 174" MAX.
EXT, SHEATHINGSHFMSPACE —— CSSINK (2 374N C'SINK —»] SHIM SPACE
7 (TYP.) \6/ b8 AN8/ (TYP.) T YEXT SHEATHING
2X FRAMING #10 X 2.5" PFH WOOD SCREW #10 X 2.5 PFH WOOD SCREW :
(G >=0.42) L/ BN 2X FRAMING
(G >=0.42)
CEIREPIEEEI A i JAMB JAMB

= ENDURA WEATHERSTRIP A e TN

[QEBD/PE 650)
EXTERIOR EXTERIOR
Y 4\\

DRYWALL/ INTERIOR INTERIOR k N pRvwaLL

#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS #8 X 2-1/2' PFH WS
#8 X 3/4" PFH SM$ 4" HINGE LATCH STRIKE PLATE

/ 1"\ HORIZONTAL CROSS SECTION
W Inswing shown - Qutswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vvalrico FL. 33595
Phone Neo.: B13.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BULLDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documenta Prepared By

%2
28
q—u
< =5
oy y Z
= 1 QA
[} o o
= =| X
L i OWw
4 T8
e < U
b= x
3]
8 o
—
e %
Q. 0.
)_
m
0]
=z
-
L2
=
L
o
o
<
3
o
z
DATE: 1/08/14
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4428

SHEET 5 oF 7

@ 2014 R.W. Bunoing CONSULTANTS INC.



RM\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, 6.8

INTERIOR

————— DOOR PANEL
ENDURA WEATHERSTRIP ‘\\\\

- /

EXT. SHEATHING \ |

2X FRAMING
[ (G >=0.42)
=y

/ DRYWALL

L— #10 X 2.5" PFH

WOOD SCREW
174" MAX. 1 -
SHIMSPACE LI o
[7e] Z ol
SHE

DOOR PANEL U

EXTERIOR W

-

\~ HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650}

INTERIOR

/1 "\ VERTICAL CROSS SECTION

U Outswing shown - inswing
also approved

EXTERIOR

(QEBD/PE 650

ENDURA THRESHOLD
{Z-SERIES OUTSWING)
LOB45465FEN {shown)
Z0OB4565FN
{w/ decorgtive nosing)

7

DOOR PANEL

ENDURA DOOR SWEEP
[DBK-R)

ENDURA THRESHOLD
{Z-SERIES INSWING ADJUSTABLE)
ZAI4565FN {shown)
LAI4545FEN [w/o decorative nosing)

4

"

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
TW CONCRETE SCREW

m VERTICAL CROSS SECTION

23R

7

'\: i

J

EXTERI

OR \‘”\ INTERIOR EXTERIOR /L INTERIOR
DOOR PANEL
‘\ ENDURA DOOR SWEEP
{DBK-AC)
%\ ENDURA THRESHOLD
{Z-SERIES INSWING ARTICULATING)
ZACA565FEN {shown)
IACAB45FN (w/ decorative nosing)
77

N

w Outswing shown

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

w inswing configuration

#10 X 2.5" PFH WOOD SCREW

1/4"X 2-3/4" ELCO CR
iTW CONCRETE SCREW

m VERTICAL CROSS SECTION

w Inswing configuration

ul
<y
g% 0
%9 w g4
£ @ o
Q9 s E:
°C g° zZ|
I":(I. -E!B b
c pEe -
Q oqg
3 z
) Zoae 53
> EL8 FE
3 Yo i
256 @%
g -
s §R” e
) ON=“ g
9 [4
] 25 u
4 ZDe Of
0 9 €
% e ]
[ SQc p
o Q0 6
.} mE
L]
c
P A
£ )
3
a
wn
=
Q
S
]
0
o )
> ]
] | L]
g o &=
L 50
o=
< S
. =
b o
3 St &
A =
5] &
& <
o o
>_
m
]
=
@]
n
>
]
o
L
<
o
s
d

oaTE: 1/08/14

scalt:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4428

sHEET B oF 7

@ 201494 R.W., BUILDING CONSULTANTS ING.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4427-28.dwg, 7.8

= g 2X framing (by others)
6%
W oo o
SRk ¢
™ O '\ -
w Q (TYP.)
] SEE HINGE |
: DETAIL 1
T BB )
f DETAIL | .
3 < g
N [ . .
3 B ) #10X 2.5" PFH
N WOOD SCREW
i {TYP. @ HEAD
] AND JAMBS) Il
=
Eﬂ‘ SEE HINGE
DETAIL 2
: B
iE
! ] 5
[ ]
FB) 8o
] h
HINGE JAMB
FRAME ANCHORING
X
FLOOR SUBSTRATE MATERIAL [TYP.)
CONCRETE [MIN. 3000 PSH)
WOOD (G >=0.42)
CONCRETE ANCHOR NOTES:
1. Concrete anchor locotions af the corners may be adjusted to maintain the min,
edge distance to mortar joints,
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
mainfain the min. edge distance to morfar joints, additional cencrefe anchors
may be required 1o ensure the "MAX. ON CENTER" dimension are not exceeded.
#8 X 1" PFH WS
mw " " " "
TAPCON® 1/ 1-3/4 2.1/2 3
Elco " " H "
utrRAcoN®| 174 1-3/4 1 3

Shootbolt Siike Plate @
Head Jamb

\Y
A\

\

#10 X 2.5" PFH WS
DETAIL 1

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4"ELCO OR
[TW CONCRETE SCREW

(TYP @ SILL)

% #8 X 2-1/2" PFH W3

IS

= #8 X 3/4" PFH WS #B X 1"PFH WS é

[~ 4" X 4" HINGE

HINGE DETAIL 1

| #8X 21/2'PFHWS
s |
-0
R e - == #8 X 3/4" PFH WS
— 4" X 4" HINGE
\\\
HINGE DETAIL 2

tyndon F. Schrridt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33585

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Preparsd By

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:
FRAME ANCHORING

PRODUCT:

NOJ DATE

REVISIONS

oate: 1/08/14

SCALE:  N.T.S.

OWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4428

SHEET 7 ofF 7

© 2014 R.W. BUILDING CONSULTANTS INE.



